F21E (EH18FE)RXERBELXET-—AKXRE

BEA —RFE HEEX FR18F10A22H(H)

L
=

£418 :A, B, C, D, E F 12B500%

% . EHALAETF=—Xa—F

AJOvy A1 A2 | A3 | A4 | IEfI
A1 |ith E (39979) X B ()-v73aTRD 6-1 | 6-4 | 2-6 2
A2 |€ F (SKTC) th JIl (sKTC) 1-6 3-6 | 3-6 4
A3 Bk I (E@GHTC) | £ (L#GHTOC) - - 6-5 | 3
A4 |E H (fE#) = B E® - - 5-6 1
B7OvY B1 B2 B3 | IEfL
B1|& H (#v7°)9y'1C) [#F H (594TS) 3-6 | 6-2 2

B2 |& R (KTC) A i (KTC) - 6-3 1

B3 |#& H Gy-vrataEn| il £ & )-v732TRED - 3-6 3
c7owvy (o c2 Cc3 | IEf
C1|i& % (SKTC) = B (&) o-6 | 0-6 |DEF
C2|% N GuysrtEiE) |& Bk (GLyIAtEIR) - 5-8 2
C3|& & () - W (FE4E) - 8-5 1
DJOwvsH D1 D2 D3 | IEfL

D1 | i OLyyatEiR) |A B (FLy)AEIER) 46 | 2-6 | 3

D2 |iT R (EH) #i M (SKTC) - 6-5 1

D3 |5  (KTC) # B ('Y-Y75ATE) - 5-6 2
EJOwvsH E1 E2 E3 | IEfL
E1|& [R () A W (FE ) 3-6 | 6-4 3

E2 |{# B geTR) |® I (REETR) - 4-6 1
E3|A K -U73ATRED|# E (9')-v73ATRE) - 6-4 2
Fav%d F1 F2 F3 | IEfL
F1|h # (sKTC) 11 H (SKTC) 6-5 | 1-6 2

F2 [/h I GurysatEiR) |& Bk GLyIAtEiR) 5-6 2-6 3

F3 | # G9478) B + & GyITS) 6-1 | 6-2 1




B 5 0%,

2R SF

(XE] BF A BHRE
= g 0O A 2 8
® G EEHLIET =
E£E5HME : 2~5, 8~11
T R mER
T A e
o A
4 |F =4k :h | (K TC)
s A ®mH 0
s & EFE wlewm
B L
s |2 @mlE  Blen
o ¥ NF B OviriEE)
o EX B ham
A XKE G -UTTR)
2 || mE I w|esam

=5
SR AW



